Journal of Fractional Calculus and Applications, Vol. 3(S). July, 11, 2012 (Proc. of the 4th. Symb. of Fractional Calculus and Applications) No. 11, pp. 1– 10. ISSN: 2090-5858. http://www.fcaj.webs.com/

SOLUTION OF A NONLOCAL CAUCHY PROBLEM OF A DIFFERENTIAL EQUATION BY ADOMIAN DECOMPOSITION METHOD

E. A. A. ZIADA

ABSTRACT. In this paper we apply the Adomian decomposition method (ADM) for solving a nonlocal Cauchy problem of nonlinear differential equations. The existence and uniqueness of the solution are proved. The convergence of the series solution and the error analysis are studied.

1. INTRODUCTION

The Cauchy problems with multi-point or non-local conditions have been extensively studied by several authors in the last two decades. The interested reader is referred to [1] - [14]] and the references therein.

Here we are concerned with the nonlocal Cauchy problem of the differential equation

$$\frac{dx(t)}{dt} = f(t, x(t)), \qquad t \in (0, T]$$
(1)

with the nonlocal condition

$$x(0) + \sum_{k=0}^{n} a_k x(t_k) = x_0, \qquad t_k \in (0,T).$$
(2)

The existence and uniqueness of the solution $x \in C(J)$, where C(J) is the space of all continuous functions and J = [0,T], $T < \infty$ of the nonlocal problem (1)-(2) will be proved, the integral representation of this solution will be proved and the solution algorithm using ADM will be given.

2. Problem Solving

2.1. Integral representation. For the integral representation of the solution of the nonlocal problem (1)-(2) we have the following lemma.

²⁰⁰⁰ Mathematics Subject Classification. 34A12, 34A30, 34D20.

Key words and phrases. Nonlocal Cauchy problem, existence and uniqueness of solution, Adomian decomposition method, error analysis.

Proc. of the 4th. Symb. of Frac. Calcu. Appl. Faculty of Science Alexandria University, Alexandria, Egypt July, 11, 2012.

Lemma 1 If $\left(1 + \sum_{k=0}^{n} a_k\right) > 0$, then the nonlocal problem (1)-(2) and the integral equation

$$x(t) = \left(1 + \sum_{k=0}^{n} a_k\right)^{-1} \left(x_0 - \sum_{k=0}^{n} a_k \int_0^{t_k} f(s, x(s)) \, ds\right) + \int_0^t f(s, x(s)) \, ds. \quad (3)$$

are equivalent.

Proof. Operating with $I = \int_{0}^{t} (.) ds$ to both sides of equation (1), we get

$$x(t) = x(0) + \int_{0}^{t} f(s, x(s)) \, ds.$$
(4)

Let $t = t_k$ in equation (4), then we get

$$x(t_k) = x(0) + \int_{0}^{t_k} f(s, x(s)) ds,$$

$$\sum_{k=0}^{n} a_k x(t_k) = x(0) \sum_{k=0}^{n} a_k + \sum_{k=0}^{n} a_k \int_{0}^{t_k} f(s, x(s)) \, ds.$$
(5)

Substitute from equation (2) into equation (5) we get,

$$x_{0} - x(0) = x(0) \sum_{k=0}^{n} a_{k} + \sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} f(s, x(s)) ds,$$

$$x(0) + x(0) \sum_{k=0}^{n} a_{k} = x_{0} - \sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} f(s, x(s)) ds$$

and

$$x(0) = \left(1 + \sum_{k=0}^{n} a_k\right)^{-1} \left(x_0 - \sum_{k=0}^{n} a_k \int_0^{t_k} f(s, x(s)) \, ds\right) \tag{6}$$

Substitute from equation (6) into equation (4) we obtain (3). To complete the proof, differentiating (3) we obtain (1). Also, let t = 0 in (3), then by direct calculations we can get (2).

2.2. The solution algorithm. The solution algorithm of equation (3) using ADM is

$$x_0(t) = x_0 \left(1 + \sum_{k=0}^n a_k \right)^{-1} , \qquad (7)$$

$$x_m(t) = -\left(1 + \sum_{k=0}^n a_k\right)^{-1} \left(\sum_{k=0}^n a_k \int_0^{t_k} A_{m-1}(s) \, ds\right) + \int_0^t A_{m-1}(s) \, ds.$$
(8)

JFCA-2012/3(S)

$$A_m = \frac{1}{m!} \frac{d^m}{d\lambda^m} \left[f\left(t, \sum_{i=0}^{\infty} \lambda^i x_i\right) \right]_{\lambda=0}$$

Finally, the solution of problem (1)-(2) will be

$$x(t) = \sum_{i=0}^{\infty} x_i(t).$$
(9)

3. Convergence Analysis

3.1. Existence and Uniqueness theorem. Define the mapping $F : E \to E$ where E is the Banach space $(C(J), \|\cdot\|)$ of all continuous functions on J with the norm $\|x\| = \max_{t \in J} |x(t)|$.

Assume now that the function $f: [0,T] \times R \to R$ is continuous and satisfies the Lipschitz condition

$$|f(t,x) - f(t,y)| \le k |x - y|$$
(10)

<u>**Theorem 1:**</u> Let f satisfies the Lipschitz condition (10), then the integral equation (3); which equivalent to problem (1)-(2), has a unique solution $x \in C(J)$.

<u>Proof</u>: The mapping $F: E \to E$ is defined as,

$$Fx = \left(1 + \sum_{k=0}^{n} a_k\right)^{-1} \left(x_0 - \sum_{k=0}^{n} a_k \int_0^{t_k} f(s, x(s)) \, ds\right) + \int_0^t f(s, x(s)) \, ds$$

Let $x, y \in E$, then

$$Fx - Fy = -\left(1 + \sum_{k=0}^{n} a_k\right)^{-1} \left(\sum_{k=0}^{n} a_k \int_{0}^{t_k} [f(s, x(s)) - f(s, y(s))] ds\right)$$
$$+ \int_{0}^{t} [f(s, x(s)) - f(s, y(s))] ds$$

which implies that

$$|Fx - Fy| = \left| -\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \left(\sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} [f(s, x(s)) - f(s, y(s))] ds\right) + \int_{0}^{t} [f(s, x(s)) - f(s, y(s))] ds\right|$$

 $\rm JFCA-2012/3(S)$

$$\begin{split} |Fx - Fy| &\leq \left| -\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \left(\sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} [f\left(s, x\left(s\right)\right) - f\left(s, y\left(s\right)\right)] ds\right) \right| \\ &+ \left| \int_{0}^{t} [f\left(s, x\left(s\right)\right) - f\left(s, y\left(s\right)\right)] ds \right| \\ &\leq \left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} |f\left(s, x\left(s\right)\right) - f\left(s, y\left(s\right)\right)| ds \\ &+ \int_{0}^{t} |f\left(s, x\left(s\right)\right) - f\left(s, y\left(s\right)\right)| ds \\ &\leq k \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} |x\left(s\right) - y\left(s\right)| ds + \int_{0}^{t} |x\left(s\right) - y\left(s\right)| ds \\ &+ \max_{t \in J} \int_{0}^{t} |x\left(s\right) - y\left(s\right)| ds \right] \\ \\ \|Fx - Fy\| &\leq k \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} ds + \int_{0}^{t} ds \right] \|x - y\| \\ &\leq k \left[T \left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + T \right] \|x - y\| \\ &\leq kT \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq KT \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|x - y\| \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \\ \\ &\leq N T \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \\ \\ &\leq N$$

therefore the mapping F is contraction and there exists a unique solution $x \in C(J)$ to the nonlocal Cauchy problem (1)-(2) given by (3), where

$$x(0) = \lim_{t \to 0} x(t) = \left(1 + \sum_{k=0}^{n} a_k\right)^{-1} \left(x_0 - \sum_{k=0}^{n} a_k \int_{0}^{t_k} f(s, x(s)) \, ds\right)$$

and

$$x(T) = \lim_{t \to T} x(t) = \left(1 + \sum_{k=0}^{n} a_k\right)^{-1} \left(x_0 - \sum_{k=0}^{n} a_k \int_0^{t_k} f(s, x(s)) ds\right) + \int_0^T f(s, x(s)) ds.$$

 $\rm JFCA-2012/3(S)$

This completes the proof. \blacksquare

3.2. **Proof of convergence.** <u>Theorem 2</u>: The series solution (9) of the problem (1)-(2) using ADM converges if $|x_1(t)| < c, c$ is a positive constant.

Proof: Define the sequence $\{S_p\}$ such that, $S_p = \sum_{i=0}^p x_i(t)$ is the sequence of partial sums from the series solution $\sum_{i=0}^{\infty} x_i(t)$ since,

$$f\left(t, x\left(t\right)\right) = \sum_{i=0}^{\infty} A_{i},$$

so,

$$f\left(t,S_p\right) = \sum_{i=0}^{p} A_i,$$

From equations (8) and (9) we have,

$$\sum_{i=0}^{\infty} x_i = \left(1 + \sum_{k=0}^n a_k\right)^{-1} \left(x_0 - \sum_{k=0}^n a_k \int_0^{t_k} \sum_{i=0}^\infty A_{i-1} ds\right) + \int_0^t \sum_{i=0}^\infty A_{i-1}(s) \, ds.$$

Let S_p and S_q be two arbitrary partial sums with p > q, then we get,

$$S_p = \sum_{i=0}^p x_i = \left(1 + \sum_{k=0}^n a_k\right)^{-1} \left(x_0 - \sum_{k=0}^n a_k \int_0^t \sum_{i=0}^p A_{i-1} ds\right) + \int_0^t \sum_{i=0}^p A_{i-1}(s) ds$$

and

$$S_{q} = \sum_{i=0}^{q} x_{i} = \left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \left(x_{0} - \sum_{k=0}^{n} a_{k} \int_{0}^{t} \sum_{i=0}^{q} A_{i-1} ds\right) + \int_{0}^{t} \sum_{i=0}^{q} A_{i-1}(s) ds$$

Now, we are going to prove that $\{S_p\}$ is a Cauchy sequence in this Banach space E.

$$S_{p} - S_{q} = -\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \left(\sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} \left[\sum_{i=0}^{p} A_{i-1}\left(s\right) - \sum_{i=0}^{q} A_{i-1}\left(s\right)\right] ds \right)$$
$$+ \int_{0}^{t} \left[\sum_{i=0}^{p} A_{i-1}\left(s\right) - \sum_{i=0}^{q} A_{i-1}\left(s\right)\right] ds$$
$$= -\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \left(\sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} \left[\sum_{i=q+1}^{p} A_{i-1}\right] ds\right) + \int_{0}^{t} \left[\sum_{i=q+1}^{p} A_{i-1}\right] ds$$
$$= -\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \left(\sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} \left[\sum_{i=q}^{p-1} A_{i}\right] ds\right) + \int_{0}^{t} \left[\sum_{i=q}^{p-1} A_{i}\right] ds$$

E. A. A. ZIADA

 $\rm JFCA-2012/3(S)$

 \leq

$$\begin{aligned} &= -\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \left(\sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} [f\left(t, S_{p-1}\right) - f\left(t, S_{q-1}\right)] ds \right) \\ &+ \int_{0}^{t} [f\left(t, S_{p-1}\right) - f\left(t, S_{q-1}\right)] ds \\ &|S_{p} - S_{q}| = \left| -\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \left(\sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} [f\left(t, S_{p-1}\right) - f\left(t, S_{q-1}\right)] ds \right) \\ &+ \int_{0}^{t} [f\left(t, S_{p-1}\right) - f\left(t, S_{q-1}\right)] ds \right| \\ &\leq k \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \left(\sum_{k=0}^{n} a_{k} \int_{0}^{t_{k}} |S_{p-1} - S_{q-1}| ds \right) \right. + \int_{0}^{t} |S_{p-1} - S_{q-1}| ds \right] \\ &\|S_{p} - S_{q}\| \leq kT \left[\left(1 + \sum_{k=0}^{n} a_{k}\right)^{-1} \sum_{k=0}^{n} a_{k} + 1 \right] \|S_{p-1} - S_{q-1}\| \\ &\leq \beta \|S_{p-1} - S_{q-1}\| \end{aligned}$$

Let p = q + 1 then,

$$||S_{q+1} - S_q|| \le \beta ||S_q - S_{q-1}|| \le \beta^2 ||S_{q-1} - S_{q-2}|| \le \cdots \le \beta^q ||S_1 - S_0||$$

From the triangle inequality we have,

$$\begin{split} \|S_p - S_q\| &\leq \|S_{q+1} - S_q\| + \|S_{q+2} - S_{q+1}\| + \dots + \|S_p - S_{p-1}\| \\ &\leq [\beta^q + \beta^{q+1} + \dots + \beta^{p-1}] \|S_1 - S_0\| \\ &\leq \beta^q \left[1 + \beta + \dots + \beta^{p-q-1}\right] \|S_1 - S_0\| \\ &\leq \beta^q \left[\frac{1 - \beta^{p-q}}{1 - \beta}\right] \|x_1\| \\ \\ &\text{Since, } 0 < \beta = kT \left[\left(1 + \sum_{k=0}^n a_k\right)^{-1} \sum_{k=0}^n a_k + 1 \right] < 1, \text{ and } p > q \text{ then, } (1 - \beta^{p-q}) \\ 1. \text{ Consequently,} \end{split}$$

$$\begin{split} \|S_p - S_q\| &\leq \frac{\beta^q}{1 - \beta} \|x_1\| \\ &\leq \frac{\beta^q}{1 - \beta} \max_{t \in J} |x_1(t)| \end{split}$$

but, $|x_1(t)| < c$ and as $q \to \infty$ then, $||S_p - S_q|| \to 0$ and hence, $\{S_p\}$ is a Cauchy sequence in this Banach space E so, the series $\sum_{i=0}^{\infty} x_i(t)$ converges.

3.3. Error analysis. <u>Theorem 3</u>: The maximum absolute truncation error of the solution (9) to the problem (1)-(2) is estimated to be,

$$\left\| x - \sum_{i=0}^{q} x_i \right\| \le \frac{\beta^q}{1-\beta} \|x_1\|$$

JFCA-2012/3(S)

Proof: From Theorem 2 we have,

$$||S_p - S_q|| \le \frac{\beta^q}{1 - \beta} \max_{t \in J} |x_1(t)|$$

but, $S_p = \sum_{i=0}^p y_i(t)$ as $p \to \infty$ then, $S_p \to y(t)$ so,

$$||x - S_q|| \le \frac{\beta^q}{1 - \beta} ||x_1||$$

so, the maximum absolute truncation error in the interval J is,

$$\left\|x - \sum_{i=0}^{q} x_i\right\| \le \frac{\beta^q}{1 - \beta} \|x_1\|$$

and this completes the proof. \blacksquare

4. Numerical Examples

Example 1 Let $\alpha > 0$. Consider the following example,

$$\frac{dx}{dt} = \frac{1}{20}x^2 + \frac{1}{10}x, \qquad t \in (0,5),$$
(11)

$$x(0) + \alpha x\left(\frac{1}{2}\right) = 1,\tag{12}$$

We prove here, firstly, that as $\alpha \to 0$ the solution of this nonlocal problem continuo to the solution of the usual Cauchy problem (with $\alpha = 0$). This proves the validity of our algorithm.

Using equation (7), problem (11)-(12) will be

$$x(t) = \frac{1}{1+\alpha} - \frac{\alpha}{1+\alpha} \int_{0}^{1/2} \left[\frac{1}{20} x^{2}(s) + \frac{1}{10} x(s) \right] ds + \int_{0}^{t} \left[\frac{1}{20} x^{2}(s) + \frac{1}{10} x(s) \right] ds,$$
(13)

Applying ADM to equation (13), we have

$$x_{0}(t) = \frac{1}{1+\alpha},$$
(14)

$$x_{i}(t) = \frac{-\alpha}{1+\alpha} \int_{0}^{1/2} \left[\frac{1}{20} A_{i-1}(s) + \frac{1}{10} x_{i-1}(s) \right] ds.$$

$$+ \int_{0}^{t} \left[\frac{1}{20} A_{i-1}(s) + \frac{1}{10} x_{i-1}(s) \right] ds, \quad i \ge 1.$$
(15)

From equations (14) and (15), the solution of the problem (11)-(12) is,

$$x(t) = \lim_{m \to \infty} \sum_{i=0}^{m} x_i(t).$$
 (16)

Figures 1.a - 1.d show ADM solution (when $\alpha = 0.1, 0.001, 0.00001, 0$ respectively, and m = 5).



From this example it is clear that the nonlocal solution tends to the local solution as $\alpha \to 0$.

Example 2 Consider the following nonlocal DE,

$$\frac{dx}{dt} = \frac{1}{10}t^2 e^{x^2} - \frac{1}{5}t^3 x, \qquad t \in (0,3],$$
(17)

$$x(0) + \frac{1}{2}x(0.1) - \frac{1}{4}x(0.2) = \frac{1}{2},$$
(18)

Using equation (7), problem (17)-(18) will be

$$x(t) = 0.4 - \frac{2}{5} \int_{0}^{0.1} \left[\frac{1}{10} s^2 e^{x^2(s)} - \frac{1}{5} s^3 x(s) \right] ds + \frac{1}{5} \int_{0}^{0.2} \left[\frac{1}{10} s^2 e^{x^2(s)} - \frac{1}{5} s^3 x(s) \right] ds + \int_{0}^{t} \left[\frac{1}{10} s^2 e^{x^2(s)} - \frac{1}{5} s^3 x(s) \right] ds,$$

$$(19)$$

JFCA-2012/3(S)

Applying ADM to equation (19), we have

$$\begin{aligned} x_{0}(t) &= 0.4, \end{aligned} \tag{20} \\ x_{i}(t) &= -\frac{2}{5} \int_{0}^{0.1} \left[\frac{1}{10} s^{2} A_{i-1}\left(s\right) - \frac{1}{5} s^{3} x_{i-1}\left(s\right) \right] ds + \frac{1}{5} \int_{0}^{0.2} \left[\frac{1}{10} s^{2} A_{i-1}\left(s\right) - \frac{1}{5} s^{3} x_{i-1}\left(s\right) \right] ds \\ &+ \int_{0}^{t} \left[\frac{1}{10} s^{2} A_{i-1}\left(s\right) - \frac{1}{5} s^{3} x_{i-1}\left(s\right) \right] ds, \qquad i \ge 1. \end{aligned} \tag{21}$$

From equations (20) and (21), the solution of the problem (17)-(18) is,

$$x(t) = \lim_{m \to \infty} \sum_{i=0}^{m} x_i(t).$$
 (22)

Figure 2 shows ADM solution (when m = 5).



Fig (2): ADM solution.

References

- Augustynowicza, A. Leszczy, H and Walterb. W, On some nonlinear ordinary differential equations with advanced arguments Nonlinear Analysis 53 (2003) 495 – 505.
- Boucherif, A. First-order differential inclusions with nonlocal initial conditions, Applied Mathematics Letters Vol.15 (2002) 409-414.
- [3] A. Boucherif, Nonlocal Cauchy problems for first-order multivalued differential equations, Electronic Journal of Differential Equations Vol. 2002 No. 47 (2002) 1-9.
- [4] Boucherif, A and Precup, R. On The nonlocal initial value problem for first order differential equations, Fixed Point Theory Vol. 4, No 2 (2003) 205-212.
- [5] Boucherif, A. Semilinear evolution inclusions with nonlocal conditions, Applied Mathematics Letters Vol. 22 (2009) 1145-1149.
- [6] M. Benchohra, E.P. Gatsori and S.K. Ntouyas, Existence results for seme-linear integrodifferential inclusions with nonlocal conditions. Rocky Mountain J. Mat. Vol. 34, No. 3, Fall 2004
- [7] M. Benchohra, S. Hamani, S. Ntouyas, Boundary value problems for differential equations with fractional order and nonlocal conditions, Nonlinear Analysis Vol.71 (2009) 2391–2396
- [8] Deimling, K. Nonlinear Functional Analysis, Springer-Verlag (1985).
- [9] Dugundji, J. and Granas, A. Fixed Point Theory, Monografie Mathematyczne, PWN, Warsaw (1982).

- [10] El-Sayed, A. M. A. and Abd El-Salam, Sh. A. On the stability of a fractional order differential equation with nonlocal initial condition, EJQTDE Vol. 2009 No. 29 (2008) 1-8.
- [11] El-Sayed, A.M.A and Bin-Taher E.O A nonlocal problem of an arbitrary (fractional) orders differential equation, Alexandria j. of Math. Vol. 1 No. 2 (2010) In press.
- [12] Gatsori. E, Ntouyas. S. K, and Sficas. Y.G. On a nonlocal cauchy problem for differential inclusions, Abstract and Applied Analysis (2004) 425-434.
- [13] Guerekata, G. M. A Cauchy problem for some fractional abstract differential equation with non local conditions, Nonlinear Analysis 70 (2009) 1873-1876.
- [14] S. Hamani, S. Benchora, M and Graef, J.R Existence results for boundary-value problems with nonlinear fractional diffrential inclusions and integral conditions. EJQTDE Vol. 2010 No. 20 (2010) 1–16.

E. A. A. Ziada, FACULTY OF ENGINEERING, DELTA UNIVERSITY FOR SCIENCE AND TECHNOLOGY, GAMASA, EGYPT.

E-mail address: eng_emanziada@yahoo.com